Why in any public opinion poll, the margin of error is shown at the bottom of TV screen (and newspapers), but not mentioning the sample size?
Public Opinion: Statistical concepts and statistical thinking enable you to: 

· Solve problems in a diversity of contexts. 

· Add substance to decisions. 

· Reduce guesswork. 

Application: The debate on abortion: Abortion is a "premeditated decision to murder." or, as a leading feminist declared, "don't put your law into my body." 
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Standard deviation (s) = [p(1-p]1/2
The margin of error term (1.96 s/(n ) enables us to compute the sample size for a give value and a give pilot value for p.  For example, for pilot value of p(yes) = 50%,  p(not  yes) = p (anything else) = 1 – p(yes) = 1 - 0.5 = 0.5  and a desirable  ±1% margin of error, the required sample size should be least n = 9604.
Notice that the standard deviation attains its maximum value if p = 0.5, this allows us to compute the smallest sample size, i.e.
1.96(0.5/(n) = .01, that is (n = 1.96(0.5)/.01 = 19.6
Therefore, n = 9604, is the smallest sample size in any public opinion poll estimation with a desirable ±1% margin of error.
Notice also that this approach is not limited to binomial (yes, no), it is also applicable to multinomial, for each probability at a time.  Now, a question for you, how do you decide a sample size which gives you a conservative decision? 
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